

**CCG PURCH RFQ 2016-048
UNIFORMS - BUILDINGS & GROUNDS DIVISION**

Due Date/Time: Monday, October 9, 2016 by 2:30 p.m.

BID TABULATION																				
Bidder	Location	Item #1 Work Pants, Color: Navy Red Kap, #PT60						Item #2 Jean Cut Work Pants, Color: Navy Red Kap, #PT50						Item #3 Ranger Pants, Color: Navy Wrangler® RIGGS Workwear® Ripstop, #IK-9800093						
		1a Waist Size: 28-42 Length: Various			1b Waist Size: 44-48 Length: Various			2a Waist Size: 28-42 Length: Various			2b Waist Size: 44-48 Length: Various			3a Waist Size: 30-42 Length: 30 to 34			3b Waist Size: 44-60 Length: 30 to 36			
		Unit Price	Est Qty	Total	Unit Price	Est Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Annual Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	
1	Cintas Corp.	Mason, OH	\$19.99	280	\$5,597.20	\$21.99	20	\$439.80	\$21.99	10	\$219.90	\$23.99	1	\$23.99	No Bid			No Bid		
2	Chesapeake Uniform Rental dba Lord Baltimore ¹	Baltimore, MD	\$13.50	280	\$3,780.00	\$13.50	20	\$270.00	\$14.50	10	\$145.00	\$14.50	1	\$14.50	\$29.50	10	\$295.00	\$29.50	1	\$29.50
3	Masterman's LLC	Auburn, MA	\$17.44	280	\$4,883.20	\$20.74	20	\$414.80	\$18.50	10	\$185.00	\$22.02	1	\$22.02	No Bid			No Bid		

¹ Note on bid: This product made by Wrangler is completely out of stock from the manufacturer in all sizes in navy. Rothco 5935 substituted in its place.

BID TABULATION (continued)														
Bidder	Location	Item #4 Industrial Work Shirt, Long Sleeve, White, Embroidery, Navy Red Kap, #SP14												
		4a Sizes: Small - XL Regular and Tall				4b Sizes: 2XL Regular and Tall				4c Sizes: 3XL Regular and Tall				
		Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	
1	Cintas Corp.	Mason, OH	\$14.50	100	\$0.00	\$1,450.00	\$16.50	50	\$0.00	\$825.00	\$16.50	1	\$0.00	\$16.50
2	Chesapeake Uniform Rental dba Lord Baltimore ¹	Baltimore, MD	\$15.80	100	\$0.00	\$1,580.00	\$16.80	50	\$0.00	\$840.00	\$20.80	1	\$0.00	\$20.80
3	Masterman's LLC	Auburn, MA	\$12.13	100	\$6.10	\$1,823.00	\$14.53	50	\$6.10	\$1,031.50	\$14.53	1	\$6.10	\$20.63

BID TABULATION (continued)														
Bidder	Location	Item #5 Industrial Work Shirt, Short Sleeve, White, Embroidery: Navy Red Kap, #SP14												
		5a Sizes: Small - XL				5b Sizes: 2XL				5c Sizes: 3XL				
		Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	
1	Cintas Corp.	Mason, OH	\$12.50	220	\$0.00	\$2,750.00	\$14.50	20	\$0.00	\$290.00	\$14.50	10	\$0.00	\$145.00
2	Chesapeake Uniform Rental dba Lord Baltimore ¹	Baltimore, MD	\$13.80	220	\$0.00	\$3,036.00	\$14.80	20	\$0.00	\$296.00	\$15.80	10	\$0.00	\$158.00
3	Masterman's LLC	Auburn, MA	\$10.13	220	\$6.10	\$3,570.60	\$12.13	20	\$6.10	\$364.60	\$12.13	10	\$6.10	\$182.30

BID TABULATION (continued)														
Bidder	Location	Item #6 Sweat Jacket, Fleece, Color: Navy, Embroidery: White Carhartt. #J149												
		6a Sizes: Small - XL				6b Sizes: 2XL				6c Sizes: 3XL				
		Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	
1	Cintas Corp.	Mason, OH	\$52.99	30	\$0.00	\$1,589.70	\$54.99	1	\$0.00	\$54.99	\$56.99	1	\$0.00	\$56.99
2	Chesapeake Uniform Rental dba Lord Baltimore ¹	Baltimore, MD	\$55.00	30	\$0.00	\$1,650.00	\$70.00	1	\$0.00	\$70.00	\$75.00	1	\$0.00	\$75.00
3	Masterman's LLC	Auburn, MA	\$48.88	30	\$6.10	\$1,649.40	\$48.88	1	\$6.10	\$54.98	\$52.63	1	\$6.10	\$58.73

¹ Note from vendor: "New Style is Carhartt 100632. not J149"

BID TABULATION (continued)																	
Bidder	Location	Item #7 Performance Knit Shirt, Short Sleeve, Navy or White, Embroidery: White or Navy Red Kap, #SK10												Item #8 Flannel Lined Work Pants, Color: Navy Dickies WEB-9799			
		7a Sizes: Small - XL				7b Sizes: 2XL				7c Sizes: 3XL				Sizes: 38 through 48, Length: Various			
		Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit price	Est Qty	Total	
1	Cintas Corp.	Mason, OH	No Bid				No Bid				No Bid				\$32.99	10	\$329.90
2	Chesapeake Uniform Rental dba Lord Baltimore ¹	Baltimore, MD	\$19.50	50	\$0.00	\$975.00	\$24.50	1	\$0.00	\$24.50	\$27.50	1	\$0.00	\$27.50	\$27.65	10	\$276.50
3	Masterman's LLC	Auburn, MA	No Bid				No Bid				No Bid				\$27.82	10	\$278.20

¹ Note from Vendor: Item #7: Sanmar not Red Kap. SK10 no longer exists. New style is K500LS. Item #8: Size only goes through 44

BID TABULATION (continued)																	
Bidder	Location	Item #9 Pique Polo, Long Sleeve, Color: White or Navy, Embroidery: Navy or White WearGuard® FBG-12120															
		9a Sizes: Small - XL				9b Sizes: 2XL				9c Sizes: 3XL							
		Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total				
1	Cintas Corp.	Mason, OH	No Bid				No Bid				No Bid						
2	Chesapeake Uniform Rental dba Lord Baltimore ¹	Baltimore, MD	\$21.50	50	\$0.00	\$1,075.00	\$26.50	1	\$0.00	\$26.50	\$29.50	1	\$0.00	\$29.50			
3	Masterman's LLC	Auburn, MA	No Bid				No Bid				No Bid						

¹ Note from Vendor: Item #9: WearGuard is actually Aramark only which is one of their competitors. They are substituting Blue Gen 7208 even though we called for no substitutions.

BID TABULATION (continued)														
Bidder	Location	Item #10												
		Pique Polo, Short Sleeve, Color: White or Navy, Embroidery: Navy or White												
		WearGuard® FBG-11120												
10a Sizes: Small - XL				10b Sizes: 2XL				10c Sizes: 3XL						
Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total			
1	Cintas Corp.	Mason, OH	No Bid				No Bid				No Bid			
2	Chesapeake Uniform Rental dba Lord Baltimore ¹	Baltimore, MD	\$18.00	50	\$0.00	\$900.00	\$23.50	1	\$0.00	\$23.50	\$25.50	1	\$0.00	\$25.50
3	Masterman's LLC	Auburn, MA	No Bid				No Bid				No Bid			

¹ Note from Vendor: Item #10: WearGuard is actually Aramark only which is one of their competitors. They are substituting Blue Gen 7206 although we called for no substitutions.

BID TABULATION (continued)														
Bidder	Location	Item #11												
		T-Shirts, 3/4 Sleeve, Color: Heather or Royal Blue or Navy, Embroidery: Navy or White												
		Gildan G2300												
11a Sizes: Small - XL				11b Sizes: 2XL				11c Sizes: 3XL						
Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total			
1	Cintas Corp.	Mason, OH	\$8.00	50	\$0.00	\$400.00	\$9.50	20	\$0.00	\$190.00	\$10.00	10	\$0.00	\$100.00
2	Chesapeake Uniform Rental dba Lord Baltimore	Baltimore, MD	\$11.35	50	\$0.00	\$567.50	\$13.50	20	\$0.00	\$270.00	\$13.95	10	\$0.00	\$139.50
3	Masterman's LLC	Auburn, MA	\$6.06	50	\$6.10	\$608.00	\$8.80	20	\$6.10	\$298.00	\$9.62	10	\$6.10	\$157.20

BID TABULATION (continued)														
Bidder	Location	Item #12												
		T-Shirts, Long Sleeve, Color: Royal Blue, Navy, or Light Blue, Embroidery: Navy or White												
		Gilden G240												
12a Sizes: Small - XL				12b Sizes: 2XL				12c Sizes: 3XL						
Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total			
1	Cintas Corp.	Mason, OH	\$10.00	50	\$0.00	\$500.00	\$11.50	20	\$0.00	\$230.00	\$12.00	10	\$0.00	\$120.00
2	Chesapeake Uniform Rental dba Lord Baltimore	Baltimore, MD	\$11.35	50	\$0.00	\$567.50	\$13.50	20	\$0.00	\$270.00	\$13.95	10	\$0.00	\$139.50
3	Masterman's LLC	Auburn, MA	\$6.97	50	\$6.10	\$653.50	\$9.00	20	\$6.10	\$302.00	\$9.81	10	\$6.10	\$159.10

BID TABULATION (continued)														
Bidder	Location	Item #13												
		Women's Deluxe Smock, 3/4 Sleeve, Color: Navy, Embroidery: White												
		WearGuard® AFF-631												
13a Sizes: Small - XL				13b Sizes: 2XL				13c Sizes: 3XL						
Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total			
1	Cintas Corp. ¹	Mason, OH	\$19.99	20	\$0.00	\$399.80	\$21.99	1	\$0.00	\$21.99	\$23.99	1	\$0.00	\$23.99
2	Chesapeake Uniform Rental dba Lord Baltimore ²	Baltimore, MD	\$17.50	20	\$0.00	\$350.00	\$21.50	1	\$0.00	\$21.50	\$23.50	1	\$0.00	\$23.50
3	Masterman's LLC	Auburn, MA	No Bid				No Bid				No Bid			

¹ Substitution taken for Item #13. See Substitution Page

² Substitution taken for Item #13. See Substitution Page.

BID TABULATION (continued)														
Bidder	Location	Item #14												
		3-In-1 System Hooded Parka, Color: Navy, Embroidery: White												
		Rockland, #J9985												
14a				14b				14c						
Sizes: Small - XL				Sizes: 2XL				Sizes: 3XL						
Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total			
1	Cintas Corp.	Mason, OH	No Bid				No Bid				No Bid			
2	Chesapeake Uniform Rental dba Lord Baltimore	Baltimore, MD	\$55.00	30	\$0.00	\$1,650.00	\$69.00	2	\$0.00	\$138.00	\$75.00	1	\$0.00	\$75.00
3	Masterman's LLC	Auburn, MA	No Bid				No Bid				No Bid			

BID TABULATION (continued)														
Bidder	Location	Item #15												
		Industrial Panel Front Jacket, Length: 29", Color: Navy, Embroidery: White												
		WearGuard® AFF-300												
15a				15b				15c						
Sizes: Small - XL				Sizes: 2XL				Sizes: 3XL						
Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total			
1	Cintas Corp. ¹	Mason, OH	\$42.00	10	\$0.00	\$420.00	\$44.00	1	\$0.00	\$44.00	\$46.00	1	\$0.00	\$46.00
2	Chesapeake Uniform Rental dba Lord Baltimore ²	Baltimore, MD	\$28.50	10	\$0.00	\$285.00	\$32.50	1	\$0.00	\$32.50	\$35.50	1	\$0.00	\$35.50
3	Masterman's LLC	Auburn, MA	No Bid				No Bid				No Bid			

¹ Substitution taken for Item #15 See Substitution Page

² Substitution taken for Item #15 See Substitution Page

BID TABULATION (continued)														
Bidder	Location	Item #16												
		Nylon Classic Windbreaker, Color: Nacy, Embroidery: White												
		WearGuard® AFF-355												
16a				16b				16c						
Sizes: Small - XL				Sizes: 2XL				Sizes: 3XL						
Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total			
1	Cintas Corp.	Mason, OH	No Bid				No Bid				No Bid			
2	Chesapeake Uniform Rental dba Lord Baltimore ²	Baltimore, MD	\$23.50	30	\$0.00	\$705.00	\$29.50	2	\$0.00	\$59.00	\$34.50	1	\$0.00	\$34.50
3	Masterman's LLC	Auburn, MA	No Bid				No Bid				No Bid			

² Substitution taken for Item #16 although no substitution was allowed. Stating WearGuard is Aramark only. Sanmar 05T71.

BID TABULATION (continued)														
Bidder	Location	Item #17												
		Unisex Nylon Crew Jacket, Color: Navy, Embroidery: White												
		Red Kap JN10												
17a				17b				17c						
Sizes: Small - XL				Sizes: 2XL				Sizes: 3XL						
Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total			
1	Cintas Corp.	Mason, OH	\$32.99	30	\$0.00	\$989.70	\$38.99	2	\$0.00	\$77.98	\$38.99	1	\$0.00	\$38.99
2	Chesapeake Uniform Rental dba Lord Baltimore	Baltimore, MD	\$24.85	30	\$0.00	\$745.50	\$34.50	2	\$0.00	\$69.00	\$37.20	1	\$0.00	\$37.20
3	Masterman's LLC	Auburn, MA	\$26.88	30	\$6.10	\$989.40	\$32.23	2	\$6.10	\$76.66	\$32.23	1	\$6.10	\$38.33

BID TABULATION (continued)														
Bidder	Location	Item #18 3-Season Jacket WearGuard® WEB-1445												
		18a Sizes: Small - XL				18b Sizes: 2XL				18c Sizes: 3XL				
		Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	
1	Cintas Corp. ¹	Mason, OH	\$55.00	10	\$0.00	\$550.00	\$57.00	2	\$0.00	\$114.00	\$59.00	1	\$0.00	\$59.00
2	Chesapeake Uniform Rental dba Lord Baltimore ²	Baltimore, MD	\$38.90	10	\$0.00	\$389.00	\$46.65	2	\$0.00	\$93.30	\$49.90	1	\$0.00	\$49.90
3	Masterman's LLC	Auburn, MA	No Bid				No Bid				No Bid			

¹ Substitution taken for Item #18. See Substitution Page

² Substitution taken for Item #18. See Substitution Page

BID TABULATION (continued)											
Bidder	Location	Item #19 Complete Rain Suit, Color: Rainwear Yellow WearGuard® WEB-801									
		19a Sizes: Small - XL			19b Sizes: Small - XL			19c Sizes: Small - XL			
		Unit Price	Est Qty	Total	Unit Price	Est Qty	Total	Unit Price	Est Qty	Total	
1	Cintas Corp. ¹	Mason, OH	\$17.99	10	\$179.90	\$19.99	2	\$39.98	\$21.99	1	\$21.99
2	Chesapeake Uniform Rental dba Lord Baltimore ²	Baltimore, MD	\$11.95	10	\$119.50	\$13.50	2	\$27.00	\$15.75	1	\$15.75
3	Masterman's LLC	Auburn, MA	No Bid			No Bid			No Bid		

¹ Substitution taken for Item #19. See Substitution Page

² Substitution taken for Item #19. See Substitution Page

BID TABULATION (continued)

		Item #20 Uninsulated Coverall, Short Sleeve, Color: Navy, Embroidery: White Dickies, #33999												
Bidder	Location	20a Sizes: Small - XL Regular and Tall				20b Sizes: 2XL Regular and Tall				20c Sizes: 3XL Regular and Tall				
		Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	
1	Cintas Corp.	Mason, OH	\$40.00	10	\$0.00	\$400.00	\$42.00	2	\$0.00	\$84.00	\$44.00	1	\$0.00	\$44.00
2	Chesapeake Uniform Rental dba Lord Baltimore ²	Baltimore, MD	\$25.30	10	\$0.00	\$253.00	\$32.75	2	\$0.00	\$65.50	\$35.50	1	\$0.00	\$35.50
3	Masterman's LLC	Auburn, MA	\$23.13	10	\$6.10	\$292.30	\$23.13	2	\$6.10	\$58.46	\$25.45	1	\$6.10	\$31.55

BID TABULATION (continued)

		Item #21 Uninsulated Coverall, Long Sleeve, Color: Navy, Embroidery: White Dickies, #48611												
Bidder	Location	21a Sizes: Small - XL Regular and Tall				21b Sizes: 2XL Regular and Tall				21c Sizes: 3XL Regular and Tall				
		Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	
1	Cintas Corp.	Mason, OH	\$44.99	10	\$0.00	\$449.90	\$46.99	2	\$0.00	\$93.98	\$48.99	1	\$0.00	\$48.99
2	Chesapeake Uniform Rental dba Lord Baltimore	Baltimore, MD	\$27.35	10	\$0.00	\$273.50	\$34.85	2	\$0.00	\$69.70	\$37.90	1	\$0.00	\$37.90
3	Masterman's LLC	Auburn, MA	\$25.57	10	\$6.10	\$316.70	\$25.57	2	\$6.10	\$63.34	\$28.20	1	\$6.10	\$34.30

BID TABULATION (continued)														
Bidder	Location	Item #22												
		Uninsulated Coverall, Short Sleeve, Color: Navy, Embroidery: White												
		Dickies, #TV 239												
22a			22b				22c							
Sizes: Small - XL			Sizes: 2XL				Sizes: 3XL							
Regular and Tall			Regular and Tall				Regular and Tall							
Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total			
1	Cintas Corp.	Mason, OH	\$84.99	20	\$0.00	\$1,699.80	\$87.99	2	\$0.00	\$175.98	\$89.99	1	\$0.00	\$89.99
2	Chesapeake Uniform Rental dba Lord Baltimore	Baltimore, MD	\$61.50	20	\$0.00	\$1,230.00	\$73.50	2	\$0.00	\$147.00	\$85.50	1	\$0.00	\$85.50
3	Masterman's LLC	Auburn, MA	\$60.51	20	\$6.10	\$1,332.20	\$60.51	2	\$6.10	\$133.22	\$66.57	1	\$6.10	\$72.67

BID TABULATION (continued)														
Bidder	Location	Item #23									Item #24			
		Insulated Bib Coverall, Long Sleeve, Color: Navy									Summer Hat, Poplin Cap			
		Dickies, #TB839									WearGuard® AFF-936			
23a			23b			23c			One Size Fits All					
Sizes: Small - XL			Sizes: Small - XL			Sizes: Small - XL								
Regular and Tall			Regular and Tall			Regular and Tall								
Unit Price	Est Qty	Total	Unit Price	Est Qty	Total	Unit Price	Est Qty	Total	Unit Price	Est Qty	Total			
1	Cintas Corp.	Mason, OH	\$79.99	5	\$399.95	\$81.99	2	\$163.98	\$83.99	1	\$83.99	No Bid		
2	Chesapeake Uniform Rental dba Lord Baltimore ²	Baltimore, MD	\$54.25	5	\$271.25	\$57.00	2	\$114.00	\$59.75	1	\$59.75	\$6.95	50	\$347.50
3	Masterman's LLC	Auburn, MA	\$52.88	5	\$264.40	\$52.88	2	\$105.76	\$58.19	1	\$58.19	No Bid		

² Substitution taken for Item #23 although no substitution was allowed. Stating WearGuard is Aramark only. Otto 102-664

BID TABULATION (continued)

Bidder	Location	Item #25 Winter Hat (No Buckle Back Closures), Color: Navy or Royal Emboridery: White WearGuard® AFF-1687 One Size Fits All			Item #26 Knit Hat, Color: Navy, Embroidery: White Port Authority, #CP90 One Size Fits All			
		Unit Price	Est Qty	Total	Unit Price	Est Qty	Embroidery Fee (per Item)	Total
1 Cintas Corp. ¹	Mason, OH	\$8.99	50	\$449.50	\$8.99	30	\$0.00	\$269.70
2 Chesapeake Uniform Rental dba Lord Baltimore ²	Baltimore, MD	\$6.95	50	\$347.50	\$6.75	30	\$0.00	\$202.50
3 Masterman's LLC	Auburn, MA	No Bid			\$2.00	30	\$3.35	\$160.50

¹ Substitution for Item 25. See Substitution Page

² Substitution for Item 25. See Substitution Page

BID TABULATION (continued)

Bidder	Location	Item #27 Camflouge Ball Cap, Color: Mossy Oak Embroider: White Uline, #H-441 One Size Fits All				Item #28 Back Support, Lumbar Belt, Black Uline, #H-441 Sizes: Small - XL			Total Based on Estimated Annual Quantities (May not Include All Items)
		Unit Price	Est Qty	Embroidery Fee (per Item)	Total	Unit Price	Est Qty	Total	
1 Cintas Corp. ¹	Mason, OH	\$11.99	20	\$0.00	\$239.80	\$18.99	10	\$189.90	\$22,970.05
2 Chesapeake Uniform Rental dba Lord Baltimore	Baltimore, MD	\$11.90	20	\$0.00	\$238.00	\$37.50	10	\$375.00	\$26,503.55
3 Masterman's LLC ²	Auburn, MA	\$5.12	20	\$3.35	\$169.40	\$8.69	10	\$86.90	\$21,001.04

¹ Substitution for Item 28. See Substitution Page

² Substitution for Item #28. See Substitution Page